ao4117

ROTAX.

AIRCRAFT ENGINES

SERVICE BULLETIN

INSTALLATION /USE OF GOVERNORS
FOR ROTAX ENGINETYPE 912/914
SB-912-052 UL R1
SB-914-035 UL R1

OPTIONAL

Repeating symbols:
Please, pay attention to the following symbols throughout this document emphasizing particular information.
A WARNING: Identifies an instruction, which if not followed, may cause serious injury or even death.
B CAUTION: Denotes an instruction which if not followed, may severely damage the engine or could lead to
suspension of warranty.
& NOTE: Information useful for better handling.

1) Planning information

1.1) Engines affected
All versions of the engine type:

- 914 UL3

- 912 UL3

- 912 ULS3

- 912 ULSFR3

- V912 configuration 3
- V914 configuration 3

if they should get equipped with the governor. In case of doubt contact your aircraft manufacturer.

For complete instructions and compliance to this Service Bulletin refer to
Service Bulletin SB-912-052 and SB-914-035, latest edition section 1.2 onward.

& NOTE: Section 1.6) Approval: Is not required for engines of the type UL (series).
Section 3) Accomplishment: In addition:persons with adequate type-specific training.

MAY 29t 2007 Current valid documentation see: SB-912-052 UL R1
www.rotax-aircraft-engines.com SB-914-035 UL R1
page 1 of 1

Copyright - ROTAX



do4116

ROTAX

AIRCRAFT ENGINES

SERVICE BULLETIN

INSTALLATION /USE OF GOVERNORS
FOR ROTAX ENGINETYPE 912/914
SB-912-052 R1
SB-914-035 R1

OPTIONAL

Repeating symbols:
Please, pay attention to the following symbols throughout this document emphasizing particular information.
A WARNING: Identifies an instruction, which if not followed, may cause serious injury or even death.

B CAUTION: Denotes an instruction which if not followed, may severely damage the engine or could lead to
suspension of warranty.
& NOTE: Information useful for better handling.

1) Planninginformation

1.1) Engines affected

All versions of the engine type:

- 912 A3

- 912F3

- 912883

- 914 F3

if they should get equipped with the governor. In case of doubt contact your aircraft manufacturer.
1.2) Concurrent ASB/SB/SI and SL

- S1-912-018, “Purging of lubrication system” current issue.

- S1-914-020, “Purging of lubrication system” current issue.
1.3) Reason

Replace / Retrofit under selection of different governor type and manufacturer.
1.4) Subject

Installation / Use of governors for ROTAX engine type 912/914.
1.5) Compliance

On customer request.
1.6) Approval

The technical content is approved under the authority of DOA Nr. EASA.21J.048.
1.7) Manpower

Estimated man-hours:

engine installed in the aircraft - - - manpower time will depend on installation and therefore no estimate
is available from the engine manufacturer.

1.8) Mass data
change of weight - - - none.

moment of inertia - - - unaffected.
1.9) Electrical load data
no change
1.10) Software accomplishment summary
no change
MAY 29" 2007 Current valid documentation see: SB-912-052 R1
www.rotax-aircraft-engines.com SB-914-035 R1
page 1 of 7

Copyright - ROTAX



1.11)

1.12)

1.13)

References

In addition to this technical information refer to current issue of

- Operators Manual (OM)

- lllustrated Parts Catalog (IPC)

- Installation Manual (IM)

- Maintenance Manual (MM)

& NOTE: The status of Manuals can be determined by checking the table of amendments of the Manual.
The 1%t column of the table is the revision status. Compare this number to that listed on the
ROTAX WebSite: www.rotax-aircraft-engines.com. Updates and current revisions can be
downloaded free of charge.

Other publications affected

The following Service Bulletins must be replaced as a consequence of this Service Bulletin and will become
invalid therefore:

- SB-912-011, “Use of an adapted propeller governor on Rotax engine type 912 A3 and 912 F3” current
issue.

- SB-912-024, “Installation of propeller governor McCauley DCFU290D17B/T1“ current issue.

- SB-912-025, “Installation of propeller governor McCauley DCFU290D17B/T2” current issue.

- SB-914-001, “Use of an adapted propeller governor on engine type ROTAX 914 F3“ current issue.

- SB-914-009, “Installation of propeller governor McCauley DCFU290D17B/T2“ current issue.

Interchangeability of parts
not affected

2) Material Information

2.1) Material - cost and availability
Price and availability will be supplied on request by ROTAX_ Authorized Distributors or their Service Centers.
2.2) Company support information
none
2.3) Material requirement per engine
For installation of the governor the following parts are requirement:
Fig.no. New p/n Qty/engine Description Old p/n Application
3 840681 3 allen screw M8X40 - governor Woodward
3 841591 1 allen screw M8X35 - governor Woodward
3 945752 4 lock washer A8 - governor Woodward
3 931372 1 gasket - governor
3 840681 2 allen screw M8X40 - governor McCauley
3 841591 1 allen screw M8X35 - governor McCauley
3 940301 1 stud M8 X 37 - governor McCauley
3 242206 1 hex. nut M8 - governor McCauley
3 945752 4 lock washer A8 - governor McCauley
3 931372 1 gasket - governor
3 840711 4 stud M8X21/20 - governor Jihostroj
3 242206 4 hex. nut M8 - governor Jihostroj
3 945752 4 lock washer A8 - governor Jihostroj
3 931372 1 gasket - governor
3 840711 4 stud M8X21/20 - governor MT-Propeller
3 242206 4 hex. nut M8 - governor MT-Propeller
3 945752 4 lock washer A8 - governor MT-Propeller
3 931372 1 gasket - governor
MAY 29" 2007 SB-912-052 R1

SB-914-035 R1
page 2 of 7

Copyright - ROTAX



2.4) Material requirement per spare part
none

2.5) Rework of parts
none

2.6) Special tooling/lubricant-/adhesives-/sealing compound - Price and availability
Price and availability will be supplied on request by ROTAX_ Authorized Distributors or their Service Centers.
parts requirement:
Fig.no. p/n Qty/engine Description Old p/n Application
899785 as required Loctite 221 violet - stud

3) Accomplishment/Instructions

Accomplishment

All the measures must be taken and confirmed by the following persons or facilities:

- ROTAX, -Airworthiness representative

- ROTAX, -Distributors or their Service Centers

- Persons approved by the respective Aviation Authority

A WARNING: Proceed with this work only in a non-smoking area and not close to sparks or open flames. Switch
off ignition and secure engine against unintentional operation. Secure aircraft against unauthorized
operation. Disconnect negative terminal of aircraft battery.

A WARNING: Risk of scalds and burns! Allow engine to cool sufficiently and use appropriate safety gear while
performing work.

A WARNING: Should removal of a locking device (e.g. lock tabs, self-locking fasteners, etc.) be required when
undergoing disassembly/assembly, always replace with a new one.

& NOTE: All work has to be performed in accordance with the relevant Maintenance Manual.

3.1) Overview of approved governors

manufacturer type designation propeller gear ratio
Woodward A210786" 2,27 /2,439
Woodward A2107902 2,27 /2,433
McCauley DC290D17B/T1" 2,27
McCauley DCFU290D17B/T12 2,27
McCauley DC290D17B/T2" 2,43
McCauley DCFU290D17B/T22 2,43
Jihostroj P-110-029/A" 2,27
Jihostroj P-110-030/A" 2,43
MT-Propeller P-850-34" 2,27
MT-Propeller P-871-34% 2,27
MT-Propeller P-875-34? 2,27
MT-Propeller P-850-12" 2,43
MT-Propeller P-871-12%4 2,43
MT-Propeller P-875-122 2,43

Y without hydraulic controlled feathering pitch propeller; increase in pressure causes propeller pitch increase

2 with hydraulic controlled feathering pitch propeller; increase in pressure causes propeller pitch reduction

% adjusted for reduction ratio i=2,43 by ROTAX_ or authorized facilities. This service is not available from
ROTAX, anymore.

4 with hydraulic controlled feathering pitch propeller without accumulator connection; increase in pressure
causes propeller pitch reduction.

MAY 29" 2007 SB-912-052 R1
SB-914-035 R1

Copyright - ROTAX page 3 of 7



3.2) Attachment flange

(see fig. 1)

attachment flange: AND20010

governor drive: internal toothing 20/40 SMS 1834 NA 14x1.27x30x12
reduction ratio: 0,58 of the engine speed at gearbox with i= 2,27

0,54 of the engine speed at gearbox with i= 2,43

direction of rotation
of governor drive: clockwise rotation seen on the attachment flange

3.3) Removal of old governor
- Remove governor or cover plate (15) according to the current Maintenance Manual

3.4) Installation of the governor

3.4.1)

3.4.2)

3.4.3)

3.4.4)

3.4.5)

Installation of the woodward governor

(see fig. 3)

- Install the Woodward governor (1) complete with a new gasket (2) with 3 allen screws M8x40 (3),
one allen screw M8x35 (4) and lock washers (5). Tighten fasteners to 22 Nm (195 in Ib.). Make sure
that the toothing of the governor drive is engaged properly.

& NOTE: Fit the allen screw M8x35 (4) in lower left side location! Otherwise the crankcase

housing will be damaged!

Installation of the McCauley governor

(see fig. 3)

- Fitthe stud M8x37/15 (6) with Loctite 221 as required and by use of a suitable tool into governor flange
and tighten to 5 Nm (44 in Ib.). Short thread goes into flange, long thread into governor.

& NOTE: Fit the stud in top right side location as viewed from MAG side of engine with the shorter

end (14 mm) (0.55 in.) in the governor flange (see fig. 3)!

- Install the McCauley governor (7) complete with a new gasket (8) with 2 allen screws M8x40 (3),
one allen screw M8x35 (4) and lock washers (5) and hex. nut M8 A/F(9). with lockwashers (5). Tighten
fasteners to 22 Nm (195in Ib.). Make sure that the toothing of the governor drive is engaged properly.

& NOTE: Fit the allen screw M8x35 (4) in lower left side location! Otherwise the crankcase

housing will be damaged!

Installation of the Jihostroj governor

(see fig. 3)

- Fit the stud M8x21/20 (10) with Loctite 221 as required and by use of a suitable tool into governor
flange and tighten to 8 Nm (70 in Ib.). Short thread goes into flange, long thread into governor.

- Install the Jihostroj governor (11) complete with a new gasket (12) hex. nut M8 A/F(9) and lock
washers (5). Tighten fasteners to 22 Nm (195 in Ib.). Make sure that the toothing of the governor drive
is engaged properly.

Installation of the MT-Propeller governor

(see fig. 3)

- Fit the stud M8x21/20 (10) on short thread with Loctite 221 as required and by use of a suitable tool
into governor flange and tighten to 8 Nm (70 in Ib.).

- Install the MT-Propeller governor (13) complete with a new gasket (14) hex. nut M8 A/F(9) and lock
washers (5). Tighten fasteners to 22 Nm (195 in Ib.). Make sure that the toothing of the governor drive
is engaged properly.

General installation requirements

(see fig. 2)

- For the actuation of the governor control lever (16) a proper cable support has to be installed by the

aircraft manufacturer. This is necessary as the cable supports cast into the intake manifold is
foreseen for the Woodward and McCauley governors, which are longer in length.

MAY 29" 2007

SB-912-052 R1
SB-914-035 R1
page 4 of 7

Copyright - ROTAX



B CAUTION: The actuation of the MT-Propeller governor compared to the other governor type has
an opposite actuation direction. For the actuation of the governor control lever a proper
cable support has to be installed by the aircraft manufacturer.

- Refer to the information of the governor and aircraft manufacturer on installation, function, operation

and maintenance of the governor.

- Restore aircraft to original operating configuration.

- Vent the lubrication system according to the current Maintenance Manual and Service Instruction
S1-912-018/S1-914-020, current issue (if the lubrication system was opened or drained during maintenance
work).

- Connect negative terminal of aircraft battery.

3.5) Check of governor
Operational test of the governor as per specification of the Flight Manual and manufacturer.

3.6) Test run
Conduct test run including ignition check, leakage test and oil pressure check in accordance with the relevant
Maintenance Manual.

3.7) Summary
These instructions (section 3) have to be conducted in accordance with compliance in section 1.5.
Confirm the implementation of the specified Service Bulletin in the Engine Log.

Approval of translation to best knowledge and judgement - in any case the original text in German language and
the metric units (Sl-system) are authoritative.

MAY 29" 2007 SB-912-052 R1
SB-914-035 R1

Copyright - ROTAX page 5 of 7



4) Appendix
the following drawings should convey additional information:

A.....attachment points
of the governor

08179

08178

fig. 2
MAY 29" 2007 SB-912-052 R1
SB-914-035 R1
page 6 of 7

Copyright - ROTAX



08177

fig. 3
OA: LOCTITE 221
¢ NOTE: The illustrations in this document show the typical construction. They may not represent full detail
or the exact shape of the parts which have the same or similar function.
Exploded views are no technical drawings and are for reference only. For specific detail, refer to
the current documents of the respective engine type.
MAY 29" 2007 SB-912-052 R1

SB-914-035 R1
Copyright - ROTAX page 7 of 7




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


